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Ans
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v 3 dad
X 4. BTeRT
Question Type : MCQ
Question ID : 630680304897
Option 11D : 6306801186140
Option 2 ID : 6306801186137
Option 31D : 6306801186139
Option 4 ID : 6306801186138
Status : Answered
Chosen Option: 3
Marks : 2
O g W@ oreETET TAETATS e M.
Ans X 1. HTETT
X2 FA
W 3. ?Flaﬂ
X 4 AT
Question Type : MCQ
Question ID : 630680304901
Option 11D : 6306801186156
Option 2 ID : 6306801186154
Option 31D : 6306801186155
Option 4 ID : 6306801186153
Status : Answered

Chosen Option :
:0

Marks

1




a3 JEIel ST FATH H1BET.

ATS o 1. TS HATH

X 2. ] AT

W3 eTATeTS THATH
X 4 FHUTT TATH
Question Type : MCQ
Question ID : 630680304906
Option 11D : 6306801186173
Option 21D : 6306801186176
Option 31D : 6306801186174
Option 4 1D : 6306801186175
Status : Answered
Chosen Option: 3
Marks : 2
Q4 georere BraTT SE TTER=A e 6% e I1 ST YR M.
s X T AT
~ 2. W,, EIED)
V' hae g
X 4 rareft aTem
Question Type : MCQ
Question ID : 630680304894
Option 11D : 6306801186125
Option 2 ID : 6306801186126
Option 31D : 6306801186127
Option 4 1D : 6306801186128
Status : Answered
Chosen Option: 3
Marks : 2




Q.5

Ans

“QreFg” UT ST TaS2Tdt °lec T,
1. 3eels
xz.ﬁﬁl?-l'
73 gfreT
X 4 NTET

Question Type : MCQ
Question ID : 630680304903
Option 11D : 6306801186164
Option 2 ID : 6306801186163
Option 31D : 6306801186161
Option 4 ID : 6306801186162
Status : Answered
Chosen Option : 1
Marks : 2
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Ans

X 1. e 7T e
X 2 T HTET IrerEd.
xa.ﬂ?ﬁ?ﬂ'gﬁ'ﬂmﬁ.

o4 FTIET ﬂmfdl IEEERH

Question Type : MCQ
Question ID : 630680304898
Option 11D : 6306801186142
Option 2 1D : 6306801186143
Option 31D : 6306801186144
Option 41D : 6306801186141
Status : Answered
Chosen Option : 4
Marks : 2
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X 2. g5 AlgA I50T

3 EIETY &3 HI0T

X 4. grsrer 9rofr o

Question Type :
: 630680304908
Option 11D :
Option 21D :
Option 31D :
Option4 1D :
Status :

Chosen Option :
Marks :

Question ID

McQ

6306801186182
6306801186183
6306801186181
6306801186184
Answered

1

0

‘T’ AT FEAL= oG HIUT Hgd?
X1 e TreE

%2 fsw agese

X 3 I @R

4 THFREA ATST@HT

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID
Status

McQ
630680304915
6306801186211
6306801186210
6306801186212

: 6306801186209

: Answered

Chosen Option :
Marks :

4
2
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Question Type : MCQ
Question ID : 630680304914
Option 11D : 6306801186207
Option 21D : 6306801186208
Option 31D : 6306801186206
Option 4 ID : 6306801186205
Status : Answered
Chosen Option: 3
Marks : 2

Q.10

Ans

“Feelles” T YTeTaT fawaredt ereg @M.

v ey
X 2. aTeTeRT

X3 3yerrT
X 4 fgare

Question Type : MCQ
Question ID : 630680304902
Option 11D : 6306801186157
Option 2 ID : 6306801186160
Option 31D : 6306801186158
Option 4 1D : 6306801186159
Status : Answered
Chosen Option : 1
Marks : 2




Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

: Answered

Chosen Option :

Marks :

Status

McCQ
630680304917
6306801186218
6306801186217
6306801186220
6306801186219

3
0
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Ans

o HEATA AT AT TR HTel gal.

X2 ﬂm?-ﬁ' IS 3UTH ST,
x 3. :33} HTIAT HEUTH F{g ATgrd F17

X 4 HOT AT HEATH FId AR

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McCQ
630680304893
6306801186124
6306801186122
6306801186123
6306801186121
Answered

2

0
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2. g U

Ans

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McCQ
630680304912
6306801186198
6306801186197
6306801186200
6306801186199
Answered

1

2
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680304907
6306801186178
6306801186179
6306801186177
6306801186180
Answered

2

2
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Q.15

ELETATEAT TMSTET TS0 FFUTS FH1A?
X 1. iy HrEor

X 2 3 gror

5. Tl Jeror

X 4 Z=OT O

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :
Chosen Option :
Marks :

McQ
630680304909
6306801186187
6306801186186
6306801186185
6306801186188
Answered

3

2

Ans

W1 HETHe INSET TEA AR AT TN HIB.

X HepdEm H
X2 3ehdeh Fol
¥ 3 RO
X 4 FHalr

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :
Chosen Option :
Marks :

McQ
630680304899
6306801186145
6306801186148
6306801186147
6306801186146
Answered

1

0
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Question Type : MCQ
Question ID : 630680304895
Option 11D : 6306801186130
Option 21D : 6306801186131
Option 31D : 6306801186132
Option 4 ID : 6306801186129

Status : Answered

Chosen Option : 4

Marks : 0

Question Type : MCQ
Question ID : 630680304916
Option 11D : 6306801186216
Option 2 1D : 6306801186214
Option 31D : 6306801186213
Option 4 1D : 6306801186215

Status : Answered

Chosen Option : 4

Marks : 0
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Ans K AT
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X 4 TeareT
Question Type : MCQ
Question ID : 630680304913
Option 11D : 6306801186201
Option 2 ID : 6306801186204
Option 31D : 6306801186202
Option 4 ID : 6306801186203
Status : Answered
Chosen Option : 2
Marks : 2
Q.20 “yrgrzgrear HeTa AigeEETE ARG o FEUiET ST HY SEEET TITT #oTar AR
Ans : I =
X 1. AT FHASAT TFAIhS FE=I0T TdaTd
X 2.
ATUTHT=TT S0 TSEAIS% oOT= FIA=T AT FIdar a9 @0
LY hd '
X 3. UHHFAT AT 7 FIOT=AT TFdT Fdd JuT
« 4 mroTaTeT TRT fEwhe g fea
Question Type : MCQ
Question ID : 630680304910
Option 11D : 6306801186192
Option 21D : 6306801186190
Option 31D : 6306801186189
Option 4 ID : 6306801186191
Status : Answered
Chosen Option : 4
Marks : 2




02 FreeSEr PIUTET GEFY AT T Y A
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X 2. HETIST
X3 wfaRaa
X 4 greTeRar
Question Type : MCQ
Question ID : 630680304896
Option 11D : 6306801186136
Option 2 ID : 6306801186133
Option 31D : 6306801186135
Option 4 ID : 6306801186134
Status : Answered
Chosen Option : 1
Marks : 2
Q.22
“Ges" IT AeST=T HATATAT 2 s,
Ans X 1. Healel
X 2 SEUTST
X 3. ag

vogm

Question Type : MCQ
Question ID : 630680304900
Option 11D : 6306801186150
Option 2 1D : 6306801186149
Option 31D : 6306801186152
Option 4 1D : 6306801186151
Status : Answered
Chosen Option : 3
Marks : 0
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680304905
6306801186172
6306801186171
6306801186170
6306801186169
Answered

2

2

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

: Answered

Chosen Option :

Marks :

Status

McCQ
630680304904
6306801186167
6306801186168
6306801186165
6306801186166

4
2
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Ans

X 1. Ferm
X 2. 9UTq.
X 3. Ferelr
I |
Question Type : MCQ
Question ID : 630680304911
Option 11D : 6306801186193
Option 2 ID : 6306801186194
Option 31D : 6306801186195
Option 4 ID : 6306801186196
Status : Answered
Chosen Option : 4
Marks : 2
Section : English Language
Q.1 Select the option that uses the correct punctuation marks for the given sentence.
won the last match.
Ans 1. Hurray, we
" 2. Hurray! We
# 3. Hurray! We,
X 4. Hurray. We,
Question Type : MCQ
Question ID : 630680311252
Option 11D : 6306801211107
Option 2 ID : 6306801211106
Option 31D : 6306801211105
Option 4 ID : 6306801211108
Status : Answered
Chosen Option : 2
Marks : 2




Q@2 Choose the most appropriate synonym of the given word.

Impair
Ans X 1. Ventilate
X 2. Enrich
' 3. Weaken
X 4. Mend

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680311272
6306801211188
6306801211185
6306801211186
6306801211187
Answered

3

2

@3 Identify the most appropriate meaning of the given idiom/phrase.

Break one’s neck

Ans X 1. To give all the earnings in charity

w 2. To work very hard to accomplish something
X 3. To strangulate someone

X 4. To win by unfair means

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680311270
6306801211177
6306801211179
6306801211180
6306801211178
Answered

4

0




Q@4 Choose the most appropriate antonym of the given word.

Churl
Ans X 1. Brute
X< 2. Lout
" 3. Profligate

X 4. Niggard

Question Type :
Question ID :
Option 11D :
Option2 1D :

Option 31D
Option 4 ID
Status

McCQ
630680311274
6306801211194
6306801211195

: 6306801211196
: 6306801211193
: Answered
Chosen Option :
Marks :

4
0

Q5 Select the most appropriate option for the given blank.

I think you need to give me

Ans X' 1. 3

X 2. No article
&3 an
X 4. the

explanation.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :
Chosen Option :

Marks :

McQ
630680311265
6306801211158
6306801211160
6306801211157
6306801211159
Answered

3

2




Q6 Tdentify the most appropriate meaning of the given idiom/phrase.

Make merry
Ans X 1. To create a chaos
X 2. To resign from a duty
+ 3. To have fun
X 4. To mock someone
Question Type : MCQ
Question ID : 630680311269
Option 11D : 6306801211176
Option 21D : 6306801211175
Option 31D : 6306801211173
Option 4 ID : 6306801211174
Status : Answered
Chosen Option : 1
Marks : 0
Q7 Select the sentence with no spelling error.
Ans 1. We are already in the middle of all the extremes.
X 2. We are already in the middle of all the extrimes.
X 3. We are already in the midle of all the extremes.
X 4. We are allready in the middle of all the extremes.
Question Type : MCQ
Question ID : 630680311268
Option 11D : 6306801211170
Option 2 ID : 6306801211172
Option 31D : 6306801211169
Option 4 ID : 6306801211171
Status : Answered
Chosen Option : 1
Marks : 2




Q.8

Select the most appropriate option for the given blank.

twelve years old, Ken was almost as tall as he was.

Ans o 1. At
X 2. With
X 3. In
< 4 On
Question Type : MCQ
Question ID : 630680311261
Option 11D : 6306801211141
Option 2 ID : 6306801211144
Option 3 ID : 6306801211143
Option 4 ID : 6306801211142
Status : Answered
Chosen Option: 3
Marks : 0
Q9 Find the part of the sentence that has a grammatical error.
Yesterday morning I had gone to the mall but didn’t buy anything.
Ans X 1. mall but
« 2. T had gone to the
X 3. Yesterday morning
X 4. didn’t buy anything
Question Type : MCQ
Question ID : 630680311256
Option 11D : 6306801211123
Option 2 ID : 6306801211122
Option 31D : 6306801211121
Option 4 ID : 6306801211124
Status : Answered
Chosen Option : 2
Marks : 2




Q10 Select the most appropriate option for the given blank.

You like to goout forawalk,  ?
Ans X 1. does you
X 2. didn’t you
X 3. is you

" 4. don’t you

Question Type : MCQ
Question ID : 630680311254
Option 11D : 6306801211113
Option 2 ID : 6306801211114
Option 31D : 6306801211116
Option 41D : 6306801211115
Status : Answered
Chosen Option : 4
Marks : 2

Q11 Select the most appropriate option for the given blank.

He was not brave to fight the pressure of society like his brothers.

Ans 1. enough
X 2. too
# 3. much

X 4. mostly

Question Type : MCQ
Question ID : 630680311276
Option 11D : 6306801211202
Option 2 1D : 6306801211204
Option 31D : 6306801211203
Option 4 1D : 6306801211201
Status : Answered
Chosen Option : 1
Marks : 2




Q12 Select the most appropriate option for the given blank.

Deby’s Christmas cookies

so good that I can’t resist them.

Ans 1. taste
X 2. is tasting
X 3. tasted
X 4. tasting
Question Type : MCQ
Question ID : 630680311262
Option 11D : 6306801211146
Option 2 1D : 6306801211148
Option 3D : 6306801211145
Option 4 ID : 6306801211147
Status : Answered
Chosen Option : 1
Marks : 2
Q13 gelect the most appropriate option for the given blank.
first five children will play this game with their parents.
Ans X 1. A
w2 The
X 3. An

X 4. No article

Question Type :
Question ID :
Option 11D :
Option 2 1D :

Option 3 ID
Option 4 ID
Status

McCQ
630680311266
6306801211162
6306801211163

: 6306801211161
: 6306801211164
. Answered
Chosen Option :
Marks :

2
2




Q.14 Select the option that uses the correct punctuation marks for the given sentence.

Little by my difficulties began to disappear.
Ans s little, however,

X 2. little however

X 3. little, however

X 4. little however,

\

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680311253
6306801211109
6306801211112
6306801211110
6306801211111
Answered

4

0

Q15 1dentify the most appropriate meaning of the given idiom/phrase.

Keep your finger on the pulse

Ans

X 1. To go for a regular body checkup

+" 2. To be well-informed about current events
X 3. To disguise yourself to achieve something

& 4. To make a decision in haste

Question Type :
Question ID :
Option 11D :
Option 2 1D :

Option 3 ID
Option 4 ID
Status

McQ
630680311271
6306801211183
6306801211182

: 6306801211181
: 6306801211184
. Answered
Chosen Option :
Marks :

3
0




Q16 Select the most appropriate option for the given blank.

I will be having dinner when I this work.

Ans X 1. will finish
X 2. would finish
" 3. finish
X 4. finishes
Question Type : MCQ
Question ID : 630680311258
Option 11D : 6306801211129
Option 2 ID : 6306801211132
Option 3 1D : 6306801211130
Option 4 1D : 6306801211131
Status : Answered
Chosen Option : 2
Marks : 0
Q17 Select the correct passive form of the given sentence.
She has made coffee for me.
Ans X 1. Coffee was made for me by her.
X 2. Coffee had been made for me by her.
X 3. Coftee is being made for me by her.
w" 4. Coffee has been made for me by her.
Question Type : MCQ
Question ID : 630680311259
Option 11D : 6306801211136
Option 2 ID : 6306801211135
Option 3 1D : 6306801211134
Option 4 1D : 6306801211133
Status : Answered
Chosen Option : 2
Marks : 0




Q.18 Find the part of the sentence that has a grammatical error.

She has decorate the room for her birthday party before we could offer our help.

Ans

X 1. could offer our help
+" 2. She has decorate the
X 3. before we

X 4. room for her birthday

Question Type : MCQ
Question ID : 630680311257
Option 11D : 6306801211128
Option 21D : 6306801211125
Option 31D : 6306801211127
Option 4 1D : 6306801211126
Status : Answered
Chosen Option : 2
Marks : 2

Q.19 Find the part of the sentence that has a grammatical error.

In the ancient world, man wanted guidance from the gods on what he has to do.

Ans # 1. what he has to do
X 2. In the ancient world,

X 3. the gods on

X 4. man wanted guidance from

Question Type : MCQ
Question ID : 630680311264
Option 11D : 6306801211156
Option 2 ID : 6306801211153
Option 31D : 6306801211155
Option 4 ID : 6306801211154
Status : Answered
Chosen Option: 3
Marks : 0




Q.20 Find the part of the sentence that has a grammatical error.

Since the landed proprietors disposed churches and convents, it became possible for them to commit the sin of simony.

Ans % 1. Since the landed proprietors
«" 2. disposed churches and convents, it
X 3. became possible for them to
X 4. commit the sin of simony
Question Type : MCQ
Question ID : 630680311263
Option 11D : 6306801211149
Option 2 ID : 6306801211150
Option 31D : 6306801211151
Option 41D : 6306801211152
Status : Answered
Chosen Option : 2
Marks : 2
Q21 Choose the most appropriate synonym of the given word.
Array
Ans X 1. Cripple
' 2. Assortment
< 3. Deface
X 4. Entity
Question Type : MCQ
Question ID : 630680311273
Option 11D : 6306801211191
Option 2 ID : 6306801211189
Option 31D : 6306801211192
Option 41D : 6306801211190
Status : Answered
Chosen Option : 2
Marks : 2




Q22 Select the most appropriate option for the given blank.

I have not been feeling very well

Ans X 1. latest

X 2. later
" 3. lately
X 4. latter
Question Type : MCQ
Question ID : 630680311275
Option 11D : 6306801211200
Option 2 ID : 6306801211198
Option 3 ID : 6306801211199
Option 4 1D : 6306801211197
Status : Answered
Chosen Option : 2
Marks : 0
Q23 Select the correct active form of the given sentence.
His pocketbook must have been stolen.
Ans 1. Somebody must have stolen his pocketbook.
X 2. Let us steal his pocketbook.
X 3. They have stolen his pocketbook.
X 4. You stole his pocketbook.
Question Type : MCQ
Question ID : 630680311260
Option 11D : 6306801211140
Option 2 ID : 6306801211137
Option 3 ID : 6306801211138
Option 4 1D : 6306801211139
Status : Answered
Chosen Option : 1
Marks : 2




Q24 Select the most appropriate option for the given blank.

Tina has not informed everyone about your arrival,

Ans 1. has she
X 2. hadn’t she
X 3. will she
X 4. did her

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status
Chosen Option
Marks

McQ
630680311255
6306801211118
6306801211117
6306801211120
6306801211119

: Answered
|
12

Q25 gelect the INCORRECTLY spelt word.
Ans X 1. Criticism

w2 Gague

< 3. Locker

X 4. Abate

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680311267
6306801211165
6306801211168
6306801211167
6306801211166
Answered

2

2

Section : General Knowledge




! et @ T geg s wer?

Ans X1 1750
v? 1756
3. 1753
x4 1759

Question Type : MCQ
Question ID : 630680312320
Option 11D : 6306801215169
Option 2 ID : 6306801215171
Option 31D : 6306801215170
Option 4 ID : 6306801215172
Status : Answered
Chosen Option: 3
Marks : 0
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X2 | HIfOT Il 1=y

X 3w |
X4 g |

Question Type : MCQ
Question ID : 630680312328
Option 11D : 6306801215204
Option 2 1D : 6306801215203
Option 31D : 6306801215201
Option 4 ID : 6306801215202
Status : Answered
Chosen Option: 3
Marks : 0




Q.3
HRAr=AT 2011 =TT A UAGHN, FaTSET=n Hadr &I fordlr 3me?

Ans K 1. 95.85%

+ 2 91.85%
X3 81.85%
X 4 87.85%
Question Type : MCQ
Question ID : 630680312324
Option 11D : 6306801215188
Option 2 ID : 6306801215187
Option 31D : 6306801215185
Option 4 1D : 6306801215186
Status : Answered
Chosen Option : 4
Marks : 0
Q.4
GTolTeTdehT FIUTET 9TIT FATATET deed glar?
. Adr=er R
|l. TS
I, =TT farer
Ans
X 1. arg | HTfOT I
X2 arg || Hrfor I
W3], 1 3o
X 4 Grarg | HTOT I
Question Type : MCQ
Question ID : 630680312334
Option 11D : 6306801215225
Option 2 ID : 6306801215226
Option 31D : 6306801215228
Option 4 ID : 6306801215227
Status : Answered
Chosen Option: 3
Marks : 2




Q5 tardr 2023 FA ATFAEC REE e SgE ferr @ R
A X e wafaT 8-S avune
X 2. TATSA AN Bdeh TR Giee
3 Qes-3meiig reTaa-fareor gefog ofeew
X 4 PIEA r&Hed! IT 39 FEA
e |
Question Type : MCQ
Question ID : 630680312316
Option 1 1D : 6306801215154
Option 2 ID : 6306801215156
Option 3 ID : 6306801215155
Option 4 ID : 6306801215153
Status : Answered
Chosen Option: 3
Marks : 2
Q-6 srar=TT 2011 =7 FHTUATER, FHASTAT=AT SmHET Jee & 15.5% 3.
A R
X 2 g:qam?r
X g
x4 ofrm
Question Type : MCQ
Question ID : 630680312325
Option 11D : 6306801215192
Option 2 ID : 6306801215190
Option 3 1D : 6306801215189
Option 4 ID : 6306801215191
Status : Answered
Chosen Option : 2
Marks : 0




Q7 rury e, g ARG A ST 9€ g FTEIT U T9ET FEUTS g
Ans X 1. FTSR

X 2 ferma
X 3. FrerERIoT
4 Ooolae
Question Type : MCQ
Question ID : 630680312329
Option 11D : 6306801215206
Option 2 ID : 6306801215207
Option 31D : 6306801215208
Option 41D : 6306801215205
Status : Answered
Chosen Option : 4
Marks : 2
8 »
Q8 12 et U ARATT Alfgar HFR FIAST 1] S
Ans 1. 2003
X 2. 2007
w3 2005
X 4. 2001

Question Type : MCQ
Question ID : 630680312332
Option 11D : 6306801215218
Option 2 ID : 6306801215220
Option 31D : 6306801215219
Option 4 ID : 6306801215217
Status : Answered
Chosen Option: 3
Marks : 2




e ofyer T AR W W
Ans x 1. éﬁTTa? Qiti
X2 o, faEmdr
X s guAT f8g
v . TAEd gAIgeeg

Question Type :

Question ID
Option 1 ID
Option 2 ID
Option 31D

MCQ
: 630680312333

: 6306801215224
: 6306801215222
: 6306801215221
Option 41D :
Status :

Chosen Option :
Marks :

6306801215223
Answered

1

0

W1 o Y wE gAY fRroiraeT M.

Ans X 1.1600
X 21800
X 3 860
¥4 1400

Question Type :
: 630680312323
: 6306801215183

Question ID
Option 1 ID
Option 21D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :
Marks :

McQ

6306801215184
6306801215181
6306801215182
Answered

3

0




1 gefrear gere @rEerdER FO e HES?
Ans x 1. o) u% T

w2 RIS dEA

X 3. 3rafes smEa

X 4 greIies HE

Question Type :
: 630680312331
: 6306801215215
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :
Marks :

Question ID
Option 1 ID

McQ

6306801215214
6306801215213
6306801215216
Answered

2

2

Q.12 A 42 ST TEAIGOE FEEAEAN SN Tsuerd Hosd Hocdial FAEY Had HTe.

Ans X 11978
2 1976
X3 1970
X 41972

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :
Chosen Option :
Marks :

McQ
630680312327
6306801215200
6306801215199
6306801215197
6306801215198
Answered

2

2




T s TeTTeEan T=0C 3 & ofr mafera ame.
A : o b o e
"X oIfFTaEETe T A AT AT A R

X 2 TeOUeA=IT YHHAT=AT ST AR
X 3. OISO ATd M0 9T

w4

Question Type :
: 630680312326

1 6306801215196
Option 21D :

Question ID
Option 11D

Option 31D
Option 4 ID
Status

McCQ

6306801215195

: 6306801215194
: 6306801215193
: Answered
Chosen Option :
Marks :

4
2

Q.14 2022 A, e FEEES AAT=AT IS AiegleT A 15 ATl AeTaT el

Ans

X SRR
v? A
X 3. e
X4 gegEy

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :
Chosen Option :

Marks :

McQ
630680312314
6306801215145
6306801215148
6306801215147
6306801215146
Answered

3

0




Q15 o 2023 7edr, Fw AT AR FET T=FHNT IS A=A Rl et

TR HIETET AUATAIST WA eedT T STavaiy 43I HeaTIE .

e g F

V7 RET 7
X3 ggiEReT 7Y
X 4 T e #7

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

McQ
630680312313
6306801215142
6306801215141
6306801215144
6306801215143

: Answered
Chosen Option :
Marks :

4
0

Q16 qftr grastaEa @EENH Hoy Fue s IR?
. o= Rffd & srEar Rreear e e Fadq=ar #EfERe @

Ans

Il & Ryozrer ool SeEeF FOTTEET Ae S
X1 ek

W2 | IO || ar=gr

X 3 e |

X4 | TR 1| S weRdy AT

Question Type :
Question ID :

: 6306801215210
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :
Marks :

Option 1 ID

McQ
630680312330

6306801215211
6306801215209
6306801215212
Answered

2

2




Q17 grar=ar T SUEIEA, FIUCHT IS FiET FESHT TSI Tdr Heraar?

Ans X1.1928
X2 1938
'3 1934
x4 1936
Question Type : MCQ
Question ID : 630680312318
Option 11D : 6306801215161
Option 2 1D : 6306801215164
Option 31D : 6306801215162
Option 4 ID : 6306801215163
Status : Answered
Chosen Option : 2
Marks : 0
Q18 gzrt 2023 7, T HRET g9 FOET 7] WO Tfgd SRAT T .
Ans ot TSTEUT
X 2. ghygmom
X3 S
X 4 fEErT
Question Type : MCQ
Question ID : 630680312315
Option 11D : 6306801215150
Option 2 1D : 6306801215151
Option 31D : 6306801215149
Option 41D : 6306801215152
Status : Answered
Chosen Option : 1
Marks : 2

1 gednr wmaw ¥ omaT sTeREET= T TR

Ans

v 1
X210
X3 5
X< 4 20

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680312322
6306801215177
6306801215178
6306801215180
6306801215179
Answered

2

0




Q20 g I RutT 9f2ar EEEeET aET 2

|. T TEHa=aT 3caH fHeaa g
I. 7T s=aaviy fig o goeim Shemmea & qoaw Rfger a
Ans X 1. e I
X 2. FeFd |
3 | 3fOT || arear
X4 | fFar || ¥fr weRdr AT
Question Type : MCQ
Question ID : 630680312319
Option 11D : 6306801215166
Option 21D : 6306801215165
Option 31D : 6306801215167
Option 4 ID : 6306801215168
Status : Answered
Chosen Option: 3
Marks : 2
a2 Frererr 1 e
%IDETW ST Elﬁ'UFEIT a-ld.l-_-!\ri 29l Hlddl
Ans x 1. m
X 2 el
3. FqHST
X 4 FEOT
Question Type : MCQ
Question ID : 630680312321
Option 11D : 6306801215173
Option 21D : 6306801215176
Option 31D : 6306801215174
Option 4 ID : 6306801215175
Status : Answered

Chosen Option :
Marks :

1
0




Q22 Frferdfy FroreT RS GfEeT SIS W% FEcHT M FUAT AT aer?
Ans 5 T

Y

X 2. guoT

=]
w3 sgaﬁaElT
X 4. TSATL

Question Type : MCQ
Question ID : 630680312312
Option 11D : 6306801215140
Option 2 1D : 6306801215137
Option 31D : 6306801215138
Option 4 ID : 6306801215139
Status : Answered
Chosen Option: 3
Marks : 2

¥ Frcger AElea TdE, 1 WEwe = .
K1 1024 TR
2 1024 emERey

X3 1024 derETSE
X 4 1024 FTETECH

Question Type : MCQ
Question ID : 630680312336
Option 11D : 6306801215236
Option 2 1D : 6306801215234
Option 31D : 6306801215235
Option 4 1D : 6306801215233
Status : Answered
Chosen Option : 2
Marks : 2




Q.24 TTAT ATIET WEATHT FATIAT A VT T Fq 30T Afgr gt SoaTh T

e

M o AT R
X 2. wiferdETg Tor
X 3. THETS T3
o 4 gfEar TaTETE

Question Type :
Question ID :

: 6306801215229
: 6306801215232
: 6306801215230
: 6306801215231
Status :

Chosen Option :
Marks :

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

MCQ
630680312335

Answered
3
0

Q25 12 3ffrre 1765 =, Fuw FAES ST AT FeAEw = TgEa

I -
« 2 gaeran feaTor
X 3. geTEET feEmoT
X 4 Fgrg=m feamr

Question Type :
Question ID :
Option 11D :

Option 2 ID
Option 3 ID

Status

McQ
630680312317
6306801215159

: 6306801215157
: 6306801215158
Option 4 1D :

6306801215160

: Answered
Chosen Option :
Marks :

2
2

Section : General Intelligence




Q1 wF 9z TEE HESET TF A e 3. Rewar waiaiay & Ao 7 Fom s G
PQ, LZ, HI, DR, ?

Ans 1 ZM
X2 ZT
w3 ZA
X4 Z5

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680311353
6306801211506
6306801211507
6306801211505
6306801211508
Answered

3

2

Q.2 grier e, HEWR G 91T faelel M. Tedeh Tediel Hel S Ao/ aH/Haurs car= e
HeTTRfT FEflT . TeeeaT TR, FAE IR/ AR/ RO HET g e

(FVZ, EUX, DTV), (RZG, QYE, PXC)

Ans 1 (BJN, AIM, ZHK)
X 2 (OXP, NWM, MVK)
3 (OPT, NOR, MNP)
X 4 (TVJ, SUH, RTG)

Option 2 ID
Option 3 ID
Option 4 ID

Question Type :
Question ID :
Option 11D :

McQ
630680311359
6306801211529

: 6306801211530
: 6306801211531
: 6306801211532
Status :
Chosen Option :
Marks :

Answered
3
2




Q3  vF Uz TETE RN T Ao el 3. A waaige O mifee qor o s e

BMRQ, IRAB, PWJM, WBSX, ?
Ans X 1. DMRQ

< 2. DTBI

3 DGBI

< 4 DHNM

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680311354
6306801211512
6306801211509
6306801211511
6306801211510
Answered

3

2

Q.4  grdte weaa FEr faue o s fueET i wEr ey o e, Ruea o afed, s
& FATTE: F qeunh Be yEeIs Rue w9l ¥ew Y 3® T 1. R wee ey
I 0T s feeeardr FoEre ey faear furarel Shaea /M, o S4ET

[ECICH
|. THET B & A AT
II. %Er C ¥ B 3mga.
fore:
| #Er C & A =g,
I. 75 A & C 3a.

A K| 3T || S ey gddeT A
V2 Fag vy | T 3T
X 3 Fam ooy || FRETT A
X 4 ueRgr forsehs TREeTa AT

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680311350
6306801211495
6306801211493
6306801211494
6306801211496
Answered

2

2




Q.5 grEhe geara FEr faum anfor car frumeeg smafia w6 Teed e sy, fumg e afedr, =&

& FEETT: A qwuieh Be dwed Rud wwer 9f, Tow A ¥ R 7. R mee ey
I 30T AT feeeurtdT Fuaa s fdear el aEea /AT, 3 ST

Frem:

| TS Ferrer e R

II. ShTET [eITeT SfTer 3T,
e

|. SFTET STl FehTar 3.

II. B F[emET T R
lIl. TeFET FeRTRN T[T AT

A X Fae fasey |l FHTET AR

2 ¥ ey | gegeg IR
X 3. THRgY faswy geTeTa AT
X4 Fae foacey || FHEeT 3R

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680311351
6306801211499
6306801211497
6306801211500
6306801211498
Answered

2

2

Q.6 wrE RERT 3R YT TS S 3 YEEd ‘5’ IO 67 TT SR ST AISHS Seded], a7 G99’

RIUTAT T W 3T SIaehss HIGST FHFIET HIUT HaT/HEAT I5aT?

56QQS565Q5565666660QQ0566Q58S

Ans X186

X225
3 Q

X4 5

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option3 1D :

Option 4 1D

McQ
630680311355
6306801211516
6306801211514
6306801211513

: 6306801211515
Status :
Chosen Option :
Marks :

Answered
3
2




Q.7 SATTATT 9fEelr S-S & gE-AT -SSR Faftd AT T TEd - g s se-geh
FEfiE A, FOTETACT T TEU HEUTT FeaAttegrear St Aol S Gger (qred et - e
HETAEN).

GE : HH = RT : SW = ?

Ans X1 SF 1 W

2 A JD
X3 UG : VK
X4 CM: GQ

Question Type : MCQ
Question ID : 630680311357
Option 11D : 6306801211522
Option 2 ID : 6306801211524
Option 31D : 6306801211523
Option 4 ID : 6306801211521
Status : Answered
Chosen Option : 2
Marks : 2

¥ greier geaTa, e wiwige defta e e

UH:RE : TG : ?
Ans 5 1 RC

+2 QD

X3 QC

X4 Us

Question Type : MCQ
Question ID : 630680311356
Option 11D : 6306801211520
Option 2 ID : 6306801211518
Option 31D : 6306801211519
Option 4 1D : 6306801211517
Status : Answered
Chosen Option : 2
Marks : 2




Q9 wF ug TEE HEEET TF A GO 3. R waiaiay & Ao 7 Fom s G

OLQ, RQR, UVS, XAT, ?
As 1 AFU

X 2 UFA

X3 AEM

x4 MRQ

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680311352
6306801211502
6306801211503
6306801211504
6306801211501
Answered

1

2

10 grefer weaTa, Reear TS ed 7 SO 3R/ e

ans 1. TXB
¥ 2 DHK
X2 UYC
x4 GKO

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680311358
6306801211528
6306801211525
6306801211526
6306801211527
Answered

2

2




6, 23, 91, 363, 1451, ?

Q1 e woaATT, o AT Tt St Ao FEr B

Ans X 1. 5810
< 2. 5800
w3 5804
< 4. 5803
Question Type : MCQ
Question ID : 630680311361
Option 11D : 6306801211538
Option 21D : 6306801211537
Option 31D : 6306801211539
Option 4 ID : 6306801211540
Status : Answered
Chosen Option : 4
Marks : 0
Q.12 L :
IUTCAT Sl 3R IEeTace hodrel HARUT Hferd gEer?
7-5x6+2+4=3
Ane X7 anfor 4
X2 5 HImoOT 2
X 3.7 afoT 2
W4 4 371TOT 6
Question Type : MCQ
Question ID : 630680311362
Option 11D : 6306801211542
Option 21D : 6306801211541
Option 31D : 6306801211544
Option 4 ID : 6306801211543
Status : Answered
Chosen Option : 4
Marks : 2




Ans

+1.900
x2.940
x3.910
X 4920

Q13 e woaATT, RoreaT AT T S Ao FET B

840, 765, 860, 745, 880, 725, ?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status:

Chosen Option :

Marks :

McQ
630680311360
6306801211534
6306801211535
6306801211533
6306801211536
Answered

1

2

Ans

X 1. 65 kg
X2 62 kg
x 3. 59 kg
« 4 54 kg

Q.14 ver Tl g anfor geifear T qOieaR 10 ¢ 11 3. T e 0T TR TR I S
21 kg 30T 84 kg 3. BF HA-TAS HaeT TUET o= ol 3ME?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :
Chosen Option :
Marks :

McQ
630680312733
6306801216813
6306801216814
6306801216816
6306801216815
Answered

1

0




Q.15 wyer, grar 0T Hger A HGT OF FH GOV el T 0T FLA FA g 35 TEF FIH qOT A

FfT ger T Fgr A= AeeT 75 Tah HIA UT ahel. TIHRRT 0T HAlTU® HRIEH g7

o g
X2 A

X 3. ST AT THUNS HIUSTH 32

o4 AR

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680312740
6306801216842
6306801216841
6306801216844
6306801216843
Answered

1

0

Q.16 L 3for M ¢ 89 7% 3 S 20 AT HI0T 24 JTHT UF T 8% AT, S 92 4 1T geer
S THT FUSH, oY A GANT 4 AT Trhr JOIUT sHuaTaSr e L el et @ e wifgsr?

e 1 gl 4
wz.gq'rf‘rz:
Xs gEndr 1:
X4 AT 3

00 ar=Aar
00 IT=Aar
00 ar=Aar

00 ar=Aar

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680312741
6306801216846
6306801216845
6306801216847
6306801216848
Answered

3

0




Q.17 wF gy fmar 40 fex g & 30 +9% oy frex avet R 8a anfor o 5 Rrer Toft Bwear (Foft

e ame). & Fsor aer v, 36 9fe ot aomr foerer, ot ool crardr fondhr amge

Ane w1 35 T
X2 25 Tk
X3 33.33 T
X4 30 TFh
Question Type : MCQ
Question ID : 630680312735
Option 11D : 6306801216822
Option 2 1D : 6306801216821
Option 31D : 6306801216824
Option 4 1D : 6306801216823
Status : Answered
Chosen Option: 3
Marks : 0
Q18 5\ r8y (5 6 . . 13 .
(?),(E)-(E) o () iy e IO /e (£) e vy smizma
Ans )1
w2 Udh
X3 m
X4 =T

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680312731
6306801216805
6306801216806
6306801216808
6306801216807
Answered

1

0




Q19 v F=x P 3 Q T 40 kmvhr 39t 31f0T Q & P 9T 30 kmvhr TR 94IE . FOT gSRIS
TR JUE a9 R amee

Ans 1 240/7 km/hr

< 2.35 km/hr
<340 km/hr
< 4.260/7 km/hr
Question Type : MCQ
Question ID : 630680312738
Option 11D : 6306801216834
Option 2 1D : 6306801216833
Option 31D : 6306801216835
Option 4 ID : 6306801216836
Status : Answered
Chosen Option : 2
Marks : 0
Q.20 v AT 2 TEEET RSN TFEE ST (AF TFare) $.6600 HE. T U S8 &7 20 T
3OS, T & T e amge
Ans X1 %.12500
« 2 %.15000
<3 %.12000
x4 %.17000
Question Type : MCQ
Question ID : 630680312737
Option 11D : 6306801216829
Option 2 1D : 6306801216831
Option 31D : 6306801216832
Option 4 1D : 6306801216830
Status : Answered
Chosen Option : 4
Marks : 0
Q.21 ver WrEwE=AT IR AT 5.6 cm . TH HEFEERr 23.1 kmihr 39T sigeaeur=r dig=oararsr
24 fRfAR oWTaTa. YarEEIET Aer=ar fShdr ST g@rder?
Ans 1. 52500
X 2. 67500
X 3. 60500
X 443500
Question Type : MCQ
Question ID : 630680312739
Option 11D : 6306801216838
Option 2 ID : 6306801216837
Option 31D : 6306801216840
Option 4 ID : 6306801216839
Status : Answered
Chosen Option : 4
Marks : 0




Q.22 1 1 1 1

+ +o o T
Sx7 Tx9 9x11 g89x91
Ans g6

X1 —

43535
43

w2 —

4535

43
K3 —

910

41
X4 ==

910

Question Type : MCQ
Question ID : 630680312732
Option 11D : 6306801216812
Option 2 ID : 6306801216811
Option 31D : 6306801216810
Option 4 ID : 6306801216809
Status : Answered
Chosen Option: 3
Marks : 0

Q23 (17 + 21) + (10 + 9)
46 + (20 + 3)

Ans X1
X2 38
3 1
X419

T Hou TR 3E?

Question Type : MCQ
Question ID : 630680312730
Option 11D : 6306801216804
Option 2 1D : 6306801216803
Option 31D : 6306801216801
Option 4 1D : 6306801216802
Status : Answered
Chosen Option: 3
Marks : 2




Q.24 7z fFAT 0T B B T OOF ©.182 MR, ST FART R 28 T Hle, aT Rehr fhAd

el 3rder?
s %.832
X 2. %.850
X 3 %.882
X 4 F.650
Question Type : MCQ
Question ID : 630680312734
Option 11D : 6306801216819
Option 2 1D : 6306801216818
Option 31D : 6306801216820
Option 41D : 6306801216817
Status : Answered
Chosen Option : 2
Marks : 0
Q.25 uw fifire @A & 959 W= 7 9ud, fO=aT T 3 uT 8T 38, a7 dr auia o fasar
FIT=AT 9 9T Bige?
Ans 1. 14 §
X215 a¥
X318 ay
X416 a¥
Question Type : MCQ
Question ID : 630680312736
Option 1 ID : 6306801216827
Option 2 1D : 6306801216828
Option 31D : 6306801216825
Option 4 ID : 6306801216826
Status : Answered
Chosen Option : 3
Marks : 0




